PRINTABLE VERSION

Quiz 7

You scored 0 out of 100

Question 1

You did not answer the question.

Find the rectangular coordinates of the point.

a) L (-1,3)
b) ©0(0,2)
© ' (1,2)
d) " (0,-2)

e (-1,1)
Question 2

You did not answer the question.

Find the rectangular coordinates of the point.

3
l—4,?ﬂ:

e) ( /

Question 3



You did not answer the question.

Give all possible polar coordinates for the point ( 4 , 4.3 ) given in rectangular coordinates.

1 4

—n+2nm —n+2nm
a) [8,3 ]’[—8’3 1
1—ﬂ:+2nﬂ: —m+2nm
b) [16’3 ]’[—16’3 1
1 4
-—m+Iinm -—m+inm
0 [4 3 ]’[—4 3 1
g ;—E-I-EHTE 2 %E-l-zﬂﬂ
d , 1L ]
—m+2nm —m+dnm
o) [8’3 ]’[—873 |

Question 4

You did not answer the question.

|
-
Find the point symmetric to [ L , 4 ] about the y-axis.

ER
a) [2,4 1
ER
b) [1’4 1
0 [—1 4 1
L
d) [2’4 1
ER
e) [—1’4 1
Question 5

You did not answer the question.

Write the equation in polar coordinates.



a) o ¥=10 cos(4)

b (0 F=3 sin(6) + 25

) r=125
2 .
4 o ¥=5cos” (8) sin(s)

o (0 ¥=10sin(8)

Question 6
You did not answer the question.

Write the equation in polar coordinates.

(x—T7)" + 5 =40

2y r=7 sin( &) + 49

b o ¥=14 sin( &)

o r=14 cos(48)

4o =7 cas” (&) sin(4)

49

e) ¥
Question 7
You did not answer the question.

Write the equation in rectangular coordinates.

2rcos(6) =9

a) =0
0
)



c) D
_P —_ —
d) 4
x — E
e) 4
Question 8

You did not answer the question.

Write the equation in rectangular coordinates.

y=>sin(§)

a)

b) X +.P =13

) y=:|:2+ﬁ

d) r=y+0

e) Tty =dy

Question 9
You did not answer the question.

Which of the following shows the correct sketch of the given polar curve?
g o
¥=—— — oz 9



a)

10 4

b)




©)

-10 4
10
5 -
T T ' ' — T
-10 -5 1

d)




e)
Question 10
You did not answer the question.

Which of the following shows the correct sketch of the given polar curve?

r="ficos(28)



10
_1|:| -]
a)
10 5
j -
T T T T
-10 =5 10

b)




©)

d)




€)
Question 11

You did not answer the question.

|
g —
Which of the following shows the correct sketch of the polar curve given (0 < ¥ < 2 )?

r=-4coz(3 8)



5_
1 i I I 1
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-10 -
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10 5
j_
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b)




©)

10

d)




e)
Question 12
You did not answer the question.

Which of the following shows the correct sketch of the given polar curve?
r=-2+44cos(t)



a)

b)




2 4 A
-F -
©)
6_
4_
I 1 1
- 2 &

d)




€
Question 13

You did not answer the question.

Find the rectangular coordinates of the point(s) of intersection of the following polar curves.
r=4sin(§)
r=-4cos(8)

a) I:_2=2:|
by o [(0,0), (-2, 2)]
o L1, (-2,2)]

a o (0,0)

o 0 [10,0), (-4, 4)]

Question 14

You did not answer the question.

425 5in” (8)

Calculate the area enclosed by *



—n

a) 4
5

b) 3

0 25 m
EER.

d) 4
5

e) 4

Question 15

You did not answer the question.

Calculate the area of the given region:
r=3coz(4)
r=7szin(8)
1
B=—T
4

and the rays: @ = 0 and

2
a) 2

9
by o 4

7
c) 8

pi]
d) 4

3
e) 4

Question 16

You did not answer the question.

Calculate the area of the given region:

r=22coz(4§)



r=11coz( &)
1

=—1"
and the rays: 7= 0 and 4
1089 1085
a) 6 3
363 n 363 T
T
1084 10Eg
9 B 16
363 n 363 T
d) 4 B
121 + 121
e) 4 t
Question 17
You did not answer the question.
Which of the following represents the area outside ¥ = 12 ,but inside ¥ = 4 Sjn[ Ei} ?

Snf

J-ﬁ (1)~ (24 sin(9))°) o
ne E

N

J'ﬁ = ((245in(9))" - (12)?) w0
he &

5,

J_4 = ((245in(0))” - (12)?) s
o T



Lo | b
1

2
g — 2 g
((24 sin(8))* - (12)%) o

| S
ul-—-

Ly
d) 3
i—::
J- é—([u)z— (24 sin(6))°) ds
oo 3

Question 18
You did not answer the question.

Which of the following represents the area inside r = 5, but outside ¥ = 10 cos & ?
Lo
2 2
J ?([5)2—(10.305(9}}}[19
1
a) 3—:n:
.2 i
1 ( 2 2} " (¢ 2)
2 = (5)°— (10cos(6)) ) da|+2 = (5)°) de
1 1
b) 3—!1'- 2—113
e
.2 |
J E([sz—f_lﬂcns(e}}}da
1
©) 55
W2 .
L (157 ao |- ([ L (52)
2 5 (5)°— (10cos(&)) ) da | — 5 (5)°) da
1 1
d) 3—!15 2—15
e
2 -

J- é_(IZSIIz—I[IEI cnsl{e}}z} d9+J %“5]2)6,8
1
€ 2—15

Question 19



You did not answer the question.

16 sin(8) o

Which of the following represents the area inside the inner loop of r==t-—

SR
4
1 _ 2
J ?{E—lﬁsm[e}} de
L
a) 4
e
.3
1 i 2
J E(E—lﬁsml{e}} dé
1y
b) 3
3
LB
1 _ 2
J ?[E—lﬁsm(e}} dé
Iy
c) &
LA
.3
1 _ 2
J ?(E—lﬁsm(e}} de
L
d) 3
T
_6
1 , 2
J E{B—lﬁsm(e}} da
1
e) &
Question 20

You did not answer the question.
Which of the following represents the area interior to both ¥ — B—1 Si.tll[ Ei} and V' = B Si.'ﬂl{ Ei} ?
e Ly
23 .2
1 : 2
2 J T (Bsin(s)) do+
1]

é—(E—Esm(e}}zde

I

Lq:l|-—-

a)



b)

©)

d)

e)

)

L
-4

]

L
B

1]

I

1
2

(a—asm(e}}2d9+J

2 J ;—(a—asm(e}}deJ
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1
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1
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(8sin(5))" do

(8sin(e))" do



